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4.0 Methodology 
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5.0 Results 

Y*.$ +)$)*/$4E977$ 49E17.$42k.$ 5)/$6)+,$ +,.$4*/D.<$93F$ 5)0*4$K/)*14$B.$9/.$*3967.$ +)$

K.3./9724.$ )*/$ 523F23K4$ +)$ +,.$ 79/K./$ <)*+,$ 1)1*79+2)3$ 23$ >,/24+0,*/0,?$ W+$ 24C$ +,./.5)/.C$

2E1)/+93+$+)$23+./1/.+$+,.$4*/D.<$/.4*7+4$B2+,$09*+2)3?$

5.1 Survey Results  

#5$ +,.$%%$4*/D.<$ /.41)3F.3+4C$%&?%d$ Z3$o$M&[$B./.$E97.$93F$^^?^ed$ Z3$o$::[$B./.$

5.E97.?$`Od$Z3oM^[$492F$+,.2/$1/.5.//.F$E)F.$)5$+/9341)/+$B94$F/2D23K?$#37<$^d$Z3$o$:[$
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)5$072E9+.$0,93K.$93F$2+$F2F$3)+$955.0+$+,.$B9<$+,.<$+/9D.77.FC$)5$+,24C$N&d$Z3$o$e[$492F$

+,.2/$1/2E9/<$E)F.$)5$+/9341)/+$B94$F/2D23K$Z94$F/2D./[?$$

^Md$Z3$o$:&[$492F$+,9+$+,.<$,9F$9$3.K9+2D.$.\1./2.30.$)3$+,.$6*4$+,9+$955.0+.F$+,.2/$*4.$

)5$+,.$6*4C$)5$+,24C$e&d$Z3$o$M`[$B./.$5.E97.?$T4$)64./D.F$23$R2K*/.$MC$495.+<$B94$974)$

/93;.F$94$+,.$E)4+$2E1)/+93+$5.9+*/.$+)$19/+202193+4C$B2+,$%%d$)5$19/+202193+4$4.7.0+23K$

+,24$5.9+*/.?$8.0,3)7)K<$B94$E)4+$0)EE)37<$4.7.0+.F$94$+,.$7.94+$2E1)/+93+$590+)/?$
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Figure 1. Graph sho
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V93<$19/+202193+4$F240*44.F$+,.$0)4+23K$1/)0.44$)5$)+,./$-8$4<4+.E4$+,.<$,9F$*4.F?$8,.$

T*0;793F$8/9341)/+$U)1$>9/F$4<4+.E$B94$E.3+2)3.F$5/.S*.3+7<$Ze[$93F$B94$0)342F./.F$

9$E)/.$.55202.3+$93F$592/$1/2023K$E.+,)F?$

“After having used the Auckland Transport... I do like the way you pay as you go… if 

you only go a few kilometres you don’t pay the same as someone who goes the whole 

route”$ZM^$<.9/4C$E97.[$

4KAKA)*,B#&.)

#3J
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E9F.$+,.E$5..7$*3495.$B,.3$*423K$+,.$6*4?$

)4KAK/)01B-,>&-%$&%-#)
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+)$40,.F*7.$)/$ 723;23K$*1C$94$B.77$94$19/+202193+4$,9D23K$+)$1793$+,.2/$ f)*/3.<$9,.9F$)5$

+2E.?$$

“There's just so much uncertainty with buses as well, like they can be really late or really 

early, and just not on time whatsoever.”$$ZM^$<.9/4C$E97.[$

T$4+*F.3+$5/)E$4)*+,./3$>,/24+0,*/0,$B94$974)$0)30./3.F$96)*+$+,.$5/.S*.30<$)5$6*4.4$

B,20,$5)/0.4$4+*F.3+4$+)$6.0)E.$/.7293+$)3$+2E.J0)34*E23K$93F$.\1.342D.$E*7+2JE)F97$

+/9341)/+?$$

“Some students use the ferry as well, as the Diamond Harbour bus only runs once in 

the morning and once in the afternoon”$ZMe$<.9/4C$5.E97.[$

)4KAK4)5'$#1>'1<),13)G;&#-1,&'(#)923#>)

$T7+./39+2D.4$ +)$ +,.$6*4$B./.$6/)*K,+$ *1$90/)44$977$ 5)0*4$K/)*14C$B2+,$ +,.$E9f)/2+<$ )5$

19/+202193+4$4,)B23K$9$4+/)3K$1/.5./.30.$5)/$6.23K$9$F/2D./$)/$1944.3K./$)5$9$09/?$$

8,./.$B94$42K3252093+$F240*442)3$9/)*3F$+,.$E)+2D9+)/4$5)/$<)*+,$)6+92323K$+,.2/$720.30.?$

W3F.1.3F.30.$93F$9$4.34.$)5$5/..F)E$B./.$+B)$)5$+,.$E)4+$2E1)/+93+$/.94)34$5)/$<)*+,$

B93+23K$+,.2/$ 720.30.?$T$4.34.$)5$1../$1/.44*/.$93F$)672K9+2)3$B94$974)$9$0)3+/26*+23K$

590+)/$+)$720.3023K?$$

8,.$96)D.$24$277*4+/9+.F$6<$+,.$5)77)B23K$S*)+.4p$

“Everyone gets their licence; it’s just better you can go wherever.” ZMe$<.9/4C$5.E97.[$

“A lot of social pressure toward the end of high school, the bus is seen as uncool when 

you’re at the age when you can get a license.” ZMe$<.9/4C$5.E97.[$
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8,.4.$590+)/4$0)3+/26*+.F$+)$E)4+$19/+202193+4$4*KK.4+23K$+,9+$)30.$+,.<$,9F$+,.2/$720.30.C$

+,.<$3)$7)3K./$3..F.F$+,.$6*4?$

“I used it (bus) before I got my car… I feel like before I had my license it was the only 

way to get to school.” ZM^$<.9/4C$5.E97.[$

4KAK8)C;'+,&#)C:,1<#))

#D./977C$19/+202193+4$4*KK.4+.F$+,9+$B,274+$+,.<$,9F$93$9B9/.3.44$)5$072E9+.$0,93K.C$2+$

B94$3)+$+,.$F.02F23K$590+)/$23$+,.2/$E)F.$)5$+/9341)/+?$8,24$24$277*4+/9+.F$6<$+,.$5)77)B23K$

S*)+.4p$

“I do care about climate change, but it doesn’t change the way I travel” ZMe$<.9/4C$E97.[$

“I wouldn’t make a decision based on emissions” ZMe$<.9/4C$5.E97.[$

"7.0+/20$6*4.4$B./.$/9/.7<$E.3+2)3.F$Z:[$93F$B./.$3)+$0)342F./.F$94$E)+2D9+)/4$)5$<)*+,$

6*4$*4.?$T$790;$)5$.F*09+2)3$9/)*3F$+,.$.3D2/)3E.3+97$6.3.52+4$)5$-8$B94$974)$,2K,72K,+.F$

6<$)3.$19/+202193+?$$

“Why is busing even better than a car”$ZMe$<.9/4C$E97.[$

4KAKD)O#$:12;2<.)

A*/1/2423K7<C$+,.$V.+/)JW35)/E9+2)3$9117209+2)3$B94$E.3+2)3.F$5/.S*.3+7<$ZM^[?$8,.$E.+/)$

911$B94$F.40/26.F$94$47)BC$)*+F9+.F$93F$23900*/9+.?$

“The 
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X2JR2$B94$93$2E1)/+93+$+,.E.$)5$)*/$5)0*4$K/)*14?$V)4+$19/+202193+4$23F209+.F$+,9+$,9D23K$

)3J
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8,.$0/.9+2)3$)5$3.B$59/.$40,.E.4$23$>,/24+0,*/0,$0)*7F$6.$6.3.520297$93F$179<$9$/)7.$23$

9FF/.4423K$ +,.$ 230/.9423K7<$ *3955)/F967.$ 4<4+.E$ )5$ 6*4$ 59/.4$ 5)/$ 4)02)J.0)3)E20977<$

F249FD93+9K.F$<)*+,$Za9/;./$.+$97?C$:&MO[?$

8KA)O:#)01B;%#1$#)2B)L#13#-)21)M#-$#J&'21>)2B)*,B#&.)7:#1)%>'1<)&:#)R%>)

8,./.$B94$9$42K3252093+$F255./.30.$6.+B..3$E97.4=$93F$5.E97.4=$1./0.1+2)3$)5$495.+<$)3$

-8?$A95.+<$B94$ 2F.3+252.F$94$ +,.$E)4+$ 42K3252093+$69//2./$ +)$ 5.E97.4=$*4.$)5$ +,.$6*4$ 23$

>,/24+0,*/0,?$>)3D./4.7<C$495.+<$B94$3)+$5)*3F$+)$2357*.30.$E97.4=$6*4$*4.?$8,24$19++./3$

24$ 4*11)/+.F$ 6<$ .\24+23K$ 72+./9+*/.?$ U)B.D./C$ +,24$ /.4.9/0,$ ,2K,72K,+.F$ ,)B$ K.3F./.F$

1./0.1+2)34$)5$495.+<$9/.$F.69+.F$23$9$4)0297$0)3+.\+?$W3$9$K.3F./$E2\.F$5)0*4$K/)*1C$+,.$

6)<4$232+2977<$179<.F$+,.$6.,9D2)*/$)5$)+,./$6*4$*4./4$)55$94$q5*33<=?$W+$B94$)37<$)30.$+,.$

K2/74$ 492F$ +,24$ E9F.$ +,.E$ *30)E5)/+967.C$ B94$ +,./.$ 9K/..E.3+$ 5/)E$ +,.$ 6)<4?$ 8,24$

4*11)/+4$9$4+*F<$6<$#*972$.+$97?$Z:&:&[$B,)$4*KK.4+4$E97.4=$1./0.1+2)34$)5$495.+<$)3$-8$

24$*3F.//.1)/+.F$6.09*4.$)5$4)02.+97$3)/E972+2.4?$

8,.4.$+/9341)/+$69//2./4$093$6.$)D./0)E.C$+)$.30)*/9K.$<)*+,C$.41.02977<$<)*3K$B)E.3C$

+)$*4.$+,.$6*4$E)/.?$R.E97.4$1./0.1+2)3$)5$495.+<$23$-8$+/9342+$9/.94$B94$2F.3+252.F$94$9$

69//2./?$WE1/)D.F$40,.F*723KC$+)$/.F*0.$+2E.$41.3+$23$+/9342+$B)*7F$230/.94.$1./0.1+2)34$

)5$495.+<$93FC$+,./.5)/.C$.30)*/9K.$6*4$*4.?$WE1)/+93+7<C$+,.$E.+,)F4$*4.F$+)$.30)*/9K.$

230/.94.F$6*4$*4.$4,)*7F$3)+$6.$24)79+.F$+)$L)3$6*4Q$4)7*+2)34?$
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G.E)D23K$+,.$495.+<$69//2./4$944)029+.F$B2+,$-8$*4.$24$0)E17209+.F?$8,24$24$6.09*4.$)5$

+,.$E*7+2590.+.F$39+*/.$)5$+,.$1/)67.E?$l/693$.3D2/)3E.3+4$9/.$3)+$K.3F./J3.*+/97$93F$

+,24$0)30.1+$24$1./1.+*9+.F$23$+,.$+/9341)/+$4<4+.E?$!.3F./.F$F255./.30.4$23$1./0.1+2)34$

)5$495.+<$24$9$4)02.+97$244*.$K/.9+./$+,93$-8?$$$$

8K/)O:#)01B;%#1$#)2B)01B-,>&-%$&%-#)21)R%>)S>#)

W35/94+/*0+*/.$)3J6)9/F$+,.$6*4C$2307*F23K$07.93723.44$93F$091902+<C$B94$2F.3+252.F$94$9$

F.+.//.3+$ +)$ 6*4$ *4.?$ WE1/)D.F$ K.3./97$ E923+.3930
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.30)*/9K.$<)*+,$+)$*4.$+,.$6*4$E)/.?$U)B.D./C$+,24$24$9$F25520*7+$0,93K.$+)$2E17.E.3+$

93F$/.S*2/.4$0,93K.$B2+,23$B2F./$4)02.+<?$$

"\24+23K$ 72+./9+*/.$ 0)3+/9F20+4$ )*/$ 523F23K4C$ g),34+)3C$ m?$ :&M`$ 4,)B.F$ +,.$ 3*E6./$ )5$

<)*+,4$K.++23K$+,.2/$ 720.30.$ 23$hi$24$F.072323K$F*.$+)$+,.$0)4+$)5$09/$E923+.3930.C$93F$

4E9/+1,)3.4?$$()*+,$9/.$7.44$/.7293+$)3$09/4$6.09*4.$+,23K4$9/.$3)B$900.44267.$+,/)*K,$

9$1,)3.?$8,24$19++./3$E9<$3)+$6.$)64./D.F$23$>,/24+0,*/0,$F*.$+)$+,.$4.D./.$72E2+9+2)34$

)5$+,.$-8$4<4+.E4$0)E19/.F$+)$)+,./$hi$02+2.4?$
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+,9+$X2JR2$B94$3.0.449/<C$41.02520977<$+)$0970*79+.$6*4$9//2D97$+2E.4?$8,24$5*/+,./$/.2+./9+.4$
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8.0 Recommendations for ECan and Future Research  

8,24$/.4.9/0,$5)*3F$B,9+$B)*7F$.30)*/9K.$<)*+,$+)$*4.$1*6720$+/9341)/+$E)/.$B)*7F$6.p$

J$ "\+.342D.$/)*+.4$93F$3.+B)/;4$+)$6.++./$4./D20.$<)*3K$1.)17.$$

J$ WE1/)D.F$40,.F*723K$+)$F.0/.94.$091902+<$244*.4$9+$1.9;$+/9D.7$+2E.4$93F$4)7D.$

B92+$+2E.$93F$0)33.0+2)3$244*.4$$

J$ T$0)342F./9+2)3$)5$T*0;793F$U)1$>9/F4$93F$2E17.E.3+9+2)3$)5$9$4+*F.3+$59/.$

J$ WE1/)D.F$235/94+/*0+*/.$Z41.02520977<$23$+,.$"94+./3$4*6*/64[$

J$ l1F9+.$911$93F$B.642+.$+)$6.$*4./$5/2.3F7<$93F$/.72967.$$

W+$24$/.0)EE.3F.F$+,24$/.4.9/0,$6.$0)342F./.F$94$9$127)+$6.5)/.$+,.$4*KK.4+2)34$/924.F$

9/.$*4.F$+)$235)/E$1)720<$B2+,23$"3D2/)3E.3+$>93+./6*/<?$Y*.$+)$+,.$4E977$49E17.$42k.$

5)/$6)+,$ +,.$4*/D.<$93F$ 5)0*4$K/)*14$)*/$ 523F23K4$0933)+$6.$K.3./9724.F$ +)$ +,.$ 79/K./$

>,/24+0,*/0,$<)*+,$1)1*79+2)3?$X.$B)*7F$/.0)EE.3F$5*+*/.$/.4.9/0,$974)$.3K9K.$E)/.$

23$F.1+,$B2+,$19/.3+4$93F$E939$B,.3*9?$8,24$24$6.09*4.$5)/$9$4,25+$+)B9/F4$93$230/.94.$

23$ -8$ +)$ )00*/C$ +,./.$ 3..F4$ +)$ 6.$ 0)7796)/9+2)3$ 6.+B..3$ K)D./3E.3+C$ E939$ B,.3*9C$

40,))74C$19/.3+4$93F$<)*3K$1.)17.$ZV23F.77$.+$97?$:&:&[?$8,24$,)724+20$911/)90,$.34*/.4$

.D./<)3.$,94$9$D)20.$9+$+,.$+967.?$$

8,24$/.4.9/0,$,94$,2K,72K,+.F$+,.$0)E17.\2+2.4$6.,23F$*3F./4+93F23K$<)*+,=4$1./0.1+2)34$

93F$+,.$3..F$5)/$5*/+,./$/.4.9/0,$B2+,$9$ 79/K./$+2E.$5/9E.C$+)$.34*/.$<)*+,$D)20.4$9/.$

9E17252.F$)3$2E1)/+93+$244*.4$4*0,$94$-8?$$
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9.0 Conclusion  

8,24$ /.1)/+$ ,94$ )*+723.F$ 1/)0.44.4$ +,9+$ B)*7F$ .30)*/9K.$ <)*+,$ +)$ *4.$ -8$ E)/.$ 23$

>,/24+0,*/0,?$ a9//2./4$ 93F$ 590272+9+)/4$ +)$ <)*+,$ -8$ *49K.$ ,9D.$ 6..3$ 2F.3+252.F$ 93F$

.\17923.F$ B2+,$ /.7.D930.$ +)$ .\24+23K$ 72+./9+*/.?$ 8,.$ /.4.9/0,$ ,94$ 2F.3+252.F$ +,.$

23+./0)33.0+2)34$6.+B..3$B2F./$4)02.+97$244*.4$93F$+,.$-8$4<4+.E?$8,./.5)/.C$4)7*+2)34$

+)$0*//.3+$-8$244*.4$93FC$0)34.S*.3+7<$+,.$.30)*/9K.E.3+$)5$230/.94.F$*49K.$9E)3K$

<)*+,C$24$0,977.3K23K?$Y.412+.$+,24C$2+$24$,)1.F$+,9+$+,.$235)/E9+2)3$0)779+.F$23$+,24$/.1)/+$

0)*7F$6.$*4.F$6<$">93$+)$235)/E$5*+*/.$0,93K.4$23$+,.$6*4$3.+B)/;?$8,24$4+*F<$,94$,.71.F$

+)$/.F*0.$+,.$;3)B7.FK.$K91$6.+B..3$9*+,)/2+2.4$93F$<)*+,?$$

$

)

)

)

)

)

)

)

)
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Z"F?[C$International Encyclopedia of Human Geography?$Z11?N'&J^&&[$

R./K*44)3C$"?C$8.//*,3C$g?C$!276./+4)3C$T?C$#D.3F.3C$m$93F$X27F24,C$a$Z:&M^[?$Youth 

mobilities in the Southern Initiative, Auckland: transport practices and 

experiences of 15-24 year olds.$G.+/2.D.F$5/)E$

,++14pss;3)B7.FK.9*0;793F?)/K?3ksE.F29sM:ees+/:&M^J&M`J<)*+,JE)6272+2.4J23J+,.J

4)*+,./3J232+29+2D.J9*0;793F?1F5$

R.//9K9E)C$V?C$c9/4)3C$V?C$a/)B3C$-?C$_$V0>7.390,93C$c?$Z:&:&[?$()*+,$1./0.1+2)34$)5$

072E9+.$0,93K.$93F$072E9+.$90+2)3$23$X9+./D277.C$V923.?$The Maine journal of 

conservation and sustainability. ,++14pss*E923.?.F*s412/.s:&:&s&`s&%s5.//9K9E)s$

!/24rC$"?C$_$"7J!.3.2F<C$T?$Z:&Me[?$"D97*9+23K$+,.$/.79+2)34,21$6.+B..3$4)02977<$
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g),34+)3C$m?$:&M`?$m2B2$+..34$+*/3$)55$F/2D23K?$A+*55$

,++14pssBBB?4+*55?0)?3ks39+2)397s'ee''``sm2B2J+..34J+*/3J)55J

F/2D23KP56072FoWBTG:'ijDKMRjlRY>/^Bgl+@Yf"V;i,Y/\*NFBDB0V;.G;lgf

VB)UN@)\KX%4$$Z$V9/$%C$:&M`[?$



!"#!$%&'$ ()*+,$-./0.1+2)34$)5$-*6720$8/9341)/+$ :&:&$

 #$!

#*972C$c?$T?$a?C$!/9,9EC$Y?$g?C$a9//)3C$T?C$_$8/)E1.+C$V?$Z:&:&[?$!.3F./$F255./.30.4$23$
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Appendix A 

GEOG 309 
 

 
 

Welcome to our survey. We're a group of third-year University of Canterbury students working 
alongside Environment Canterbury to improve the current bus system. We are interested in hearing the 
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What suburb do you primarily reside in? (ie.Spend most of your time outside of school in) 

________________________________________________________________ 
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What level of driver's license do you currently hold? 

o Not old enough to hold a license  

o Old enough to hold a license but do not hold one  

o Learner's  

o Restricted  

o Full  
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Do you have a Metro or Can-Do card? 

o Yes  

o No  
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If yes, please select all that apply: 

▢ Bus did not arrive on time/did not show up  

▢ Harassment  

▢ No room on the bus  

▢ Bad bus driver  

▢ Other people on the bus made you feel uncomfortable  

▢ Other (please specify) ________________________________________________ 
 

End of Block: Block 2 
 

Start of Block: Block 3 
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Please rank how much you agree or disagree with the following statements. 

 Strongly 
disagree Disagree Neutral Agree Strongly agree 
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